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Paper / Subject Code: 40903 / Microprocesors and Applications

S(,sarh-V, E/ortr@Ks , S)lzol €
rMaxMarkssor IChPtce baoe)

'\_

1) Question no. 1is compulsory . :,,.1i'.,:

-a'

..rl :

2) Solveanythreefromtheremainingfivequestions. ,',.: - 1.. " ,'.., -,; ,,.1.*i 
:

3) Assumesuitableadditional dataif necessary. .,'.' '"".'" '. ::''.;'''" :'^....,1-.1ft5'r;
. f,.; .,-{l,.t: .i

Q1) Answer the following questions: (20ji{l;.".-'i:):tr.. :;:

a) Explain the significance of HOLD, RESET and READY signals in 8086 processor '..-' .,,

b) List the steps taken by 8086 processor in response to receiving an interrupt. .. . '
c) Draw the 8086-8087 interfacing circuit representation'inr,tra81$um;r.,9die:9f operation. - .' ,. )1":

d) Explain the use & advantage of pipelining feature.in 8086.'0'ictiite.cture_,.'.r,i 
,::i,1.'.,, ,;ilr)l::..*iit

. , ,- .:'. .. -::-.il }.,..i:r-l

Q2) a) List and explain with examples memory addressing.modes in 8086 processori' ' "r :'iiOlir'

b) Explain the register structure of 8086 processor. (,10)

.. . .' (10)
Q3) a) With the help of memory map inte*ace the followingto an 8086 baseU sysiertdb.efiting in

a5) a) Explain thg11,te"l:iiqntiql:n pfgcessor',S pipelininggh{ Sup.eisealar architecture. (10)

b) With thq,help.dta'ni:atflbwlhbrt/.algorithm wr:iit'a,program in 8086 assembly to copy an

array of fO0iiuri'rOers initialis,ed in thddata'segment to €xtra segment. Assume additional data

minimum mode:
i) 32K bytes of EPROM memory using 8k byte devices.
ii) 32K bytes of RAM memory using 8k byte devices.

b) Classify and explain 808.6 instruction set.

Qa) a) Explain the significance of flagS and flag register of 8086 processor. '
b) Explain the need for DMA and modes of DMA data transfer typically made

controller lC - 8237 ,

if any. " .'- 1r 
:

I

Q6) Write'-sh6l:t notes on: fiNY f\rvOl
a) Programmable interruptrontroller - 8259.
b) lntel Pentium processor - Branch Prediction Logic

c) Programmable peripheral interface - 8255.
,' d) t'rtr ZlH'- DoS interiupt.

(10)

(10)

use of by the DMA
(10)

(10)

(10)

(10)

(10)

(10)

f
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f.Paper / Subject Code: 40904 / Digital System Design

S€,teru T, AlorfuqnirS , ChoICg Be
(Time:3 Hours)

N.B:1)Question no. 1 is compulsory.
2) Attempt any three out of the remaining five questions.
3) Use suitable data, wherever necessary

Q1. Attempt the following questions.
. I .'.1

(A) Differentiate between Mealy and Moore machine,'l i- : 
"

(C) Differentiate between signaland Variable.
(D) Explain what Entity in VHDL is.
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B) Eliminate redundant states and draw reduced state di
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Paper / Subject Code: 40905 / Principles of Communication

3)AssumesuitabledatawhereverneceSSary..'..

1. Answer the following (any four):
a) Explain how quantization helps in noise removal.
b) Explain why the local oscillator frequency is always chosen as f!+f,r and not f,-fin?
c) Explain noise triangle in FM.
d) Determine the overall noise factor and noise

the following parameters:
Ar=6dB, Az=l5dB Ar:1OdB

[Total Marks:80]

relevant waveforms. 10

. What is aliasing error? How it can be l0

NFr:lOdB NFz:6dB NF:=10dB
e) Calculate percentage saving in AM modulated wave to a depth of 100 percent when the

carrierandoneofthesidebandsareSupPrTS.e9i.ComPareA}4.yi1hSSB€c:

2. a) With the help of a neat bock diagram explain the FM transmitter using Armstrong
method of FM generation.

b) ln a super-heterodyne receiver having no RF amplifier, the loaded Q of the antenna
coupling circuit is 100. If the IF is 455kHz, calculate: l) The image frequency and its
rejection ratio for the runing at l044k[z.2) The image frequency and its rejection ratio
forthe tuning at 30MHz:. ., . , . i,.. -.,i ,. . ' .,: ,'

c) With a neat block.diagram.explain the working of super-helelodjaq receiver,with l0
waveforms at the output of each block. Explain the functions of each block.

3. a) Explain the terms.with.:referenc€ to Radio Receivers: Selectiviryr:Sensitivity, Fidelity
AGC and Double spotting.

b) Explain the frequency discriminators with the help of neat diagrams.

4. a) Explain-PAM; PWM and FPM generation wiih
b) Explain natural sampling and flat top sampling

overcome?

t0

t0

15. a) peiive,the..expression for the signal tq quantization noise ratio in PCM. 5

...,!);,: ki-dh.fM,gystem, when the audio frequency is 400H2 and the AF voltage is 4V, the 5

' .' :'' dpvlation is'.4.8kH2- Calculate the modulation index and the bandwidth required. If the
. modulating frequency is halved, what is the new bandwidth?' ,c) .Erplairi'the working of Delta Modulation with a neat block diagram and showing 10

'' ':' _ 
"l

a) -..Expl6!nFDM with a neat block diagram. Give its applications. 10
,:b)'.,,,Diaw.lblbck diagiirir <iiP..CM.transmitter and receiver and explain the function of each 10

bl6ik..

6.

tl,
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N.B.

Q1. Attempt any four questions in Q1.

a) Explain lead and lag compensator.

..:"4 ,'-.: _qi'T...'::. t :,.
,.-: ", !,'1 ^-1

Spr,n-9\Qho\cc- las.-J I t?"lrrj
(11 Question number 1is compulsory.

(2) Attempt any 3 questions from remaining.

(3) Assume suitable data if required.

(4) Figure to the right indicates full marks.

.;

:.:
,:\ 'i'

\-

Q2. A) Find the transfer function C(s)/R(s) of the folloWing system using block diagram technique.

k(s+1)(s+2)
(s+3)(s-3)

[101

t10I

[10]

[10]

.-1 rt

t,,,.
"' ' ,... j

.r" *'.'
"_l ! \- .. '"

Y(s)_:
R(s)

3s*4
s2+4s+3

: 15 ' rll' ,i;:
:'- ,r ' :.

.t1.; , .:.1'
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2

Q4. A) Check controllability and observability for the system described by '

. '. ,,:lo 6 -sl l0x=lt o z l*lr
lE z 4l lz

s8+5s6+2sa+3s2+L=0

y=[1 Z 3)x .i.
, .'" .:" .i

Q4. B) Determine the stability of the system having charactdiiSiictquatiorl " 
:

45. A) Construct the Bode Plot for the following transf0r:functio1.,,$grltmdnt b,n stEbilittT. -''. .

..]'...'.'i'.'i':'.:.,.'..l.'...',:.,,;:'':..,;i.';.ii .. ,': .-j: i );'. i,"a::

G(s)H(s)=#....'....''{'...*'..
Q5. B) List the performance specificationq of Time Response Analysis.and-de'rive any'fourof'them.

.r,, t10l
\l

[20]
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